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Jdwnbjwunyp
09132200 |Pkught Ntagnuun < lhwp 19200
09132100 |Phughu Mpbkidpnu q< [hwp 6000
09134220 |Yhg. dwnbijhp q< jhwp 2400
MEnnpwip wudbwp b wnunnujw
wwjdwuubpny
24951440 |Uhwnhduglud wdniju A< |phquhwn 1000
33611100 |Oubwpwuqni20uq < |ghquhun 4000
33611120 |Hudninhnhti 20Ug A< Iphnuhwn 1000
33611120 |$winuhnht 40ug < |ghguhwin 1000
33611150 |Mwlypkunnhi 300uq < |phquhwwn 300
33611160 |Ukunynuypuiihn 10dg < |pkquhwn 400
33611170 |Mpnwwdbpht 40ug < [phqwhun 3600
33611170 |pmunwn]tpht 20ug/A] 2u I |upguy 500
33611200 |Lnwkpunlhp 2ug < |phnuhwin 300
33611220 |ULppht phgnitnfwb gpwdbpuljwiiqihy wn < |pnuthnoh 300
33611350 |Uulnpphuwppnt 50ug A< |ghquhunn 900
33611360 |funjhuyghdkpng Sug/ < hun 400
33611380 |Uhynuhimppm 50ug < |ghquhun 300
33611390 |Mhphyopuht 5% < upquy 200
33611420 |Uwjghnwih gyniyniwn 0,5% A< |phqubwun 300
33611440 |Phuihl 50ug A< upguiy 200
33621100 |Zbwwpht bunphnud < |punip 100
33621110 |dwppuphl 5ug < |phpuhun 2000
33621140 |Yjnuhnngpl) 75uq A< nhnwhwin 5000
33621210 |kpywph yupntbwyng hutwljgnipintt < upyuily 50
33621210 |kpywph wwpnibwlng hufwygnpmb 100uq G< ninuwhuwn 720
33621230 |Pnjuppnt Sug < |nhnwhunn 500
33621240 |8hurynpuyuiht 200ukg/ml < Jupquy 200
33621360 |%hghphy tethnpwwn 0,5uq < |phquhwn 300
33621380 |%thqopuhl 62,5 < |phnuhwin 1000
33621410 |Uhuuuwnwwnhi 10ug A< niquhun 1000
33621410 |Uhdduunwinhi 10uq F<  [phquhunn 1000
33621420 |Uuninpjuuniunpih  10ug F<  |phnwhwn 2200




£621420 [Unnopiuuaunht 20ug o 2200
33621450 |Uujnnhughi 5uq < |phquhwin 2000
33621560 |2hnpnpinpphwqhy 50Uq < [phnuhuwitn 1800
33621590 |$nipnubithy 40uq < nhnuhunn 3000
33621600 |buguiuunthy 150uq K |pquyunpg 2000
33621620 |Uwyhphbnjwlunnk 25Uq < nhnuhuwwn 1000
33621690 [Ywpytinhim 25uq < |phquhwn 1100
33621690 [uwpytghyny 12,5q < |phquhwun 400
33621700 |Ubkwnwpniny 50uUq < nknuhwwm 1800
33621720 |Phunwpnin; 5uq < |ghquwhwin 2000
33621720 |Phunupnyny 10ug < |pbnwhwn 2000
33621730 |Thpiwudhy 80uq F<  |phguhunn 1500
33621750 [Uhdkighwhti 10uq < [pEquhunn 2000
33621760 |Ehuyuuyphy 5uq < |qhquhwn 3000
33621761 |Ugkwihjuwihghjwppnt 100 1q F< pquhunn 1000
33631110 |Uhuwminht < |piquhuin 200
33631120 |Stpphtwuphi 1% F<  |uppwpuntp 60
33631180 |Updwph unydunhwuqhi1% < uppuipunip 60
33631290 |Bpmiwypndhii 400 g F<  |pbquhuin 1200
33631290 |Ppoiypndkt 2001q/5 F< oompuly 400
33631300 |Yhwnwpndh  150uqg < nhnuhwwn 500
33631300 |Ykwnwpndkl  25uq/q < |yotgng 200
33631310 |Mhynpbuwly 5% F<  |gnunng 300
33631310 [Vhymdhmly 75uq < [phquihunn 3000
33631310 |hynpklumy  75uq 3uj F< Jupguy 1500
33641413 |hpuwibinugnt wtwlwphy < |hun 100
33642210 |Nplguhgnt Sig F<  |phquhwin 2400
33642230 |Lunphpopuhti 50mkg < nhnwhwwn 1000
33642230 |Lunphpopuhti 100mkg F<  |pbquhwin 2160
33642240 |Phuiuqn; 5iq F<  |phquhwin 1800
33651111 |Unopuwghyiht 500ug | phnuugunhs 400
33651111 |Udlopuumghyjhti 250/5u; I ohy 300
33651115 |8kduybipupis < ohy 1000
33651115 [8hpuykipuhti 250 1q < |pbnuupunhg 1000
33651118 |8hbuphwpuntt 1q F< bho 1000
33651125 |Ughwupnuhghti 100ug/5u; < |ohy 200
33651125 |Ughuipnuhghtt 500ug < |pbpwywnhs 360
33651126 |QLuwnwuhghti 0.3% < [uhiuyuphy 100
33651127 |tnpuhghlyhti 100ug F ghquyuinhs 200
33651134 |Shwpndnpumghti 250uq < |pbquhwn 1000
33651134 |8hwpndinpumght: 0,3% F< |wumlwphjubp 200
33651148 |Ynwnphdugn) 1%, 10% F<  luppwpunip 100
33651150 |$pnmihnbwugn; 50iq < nhnuuwwnhg 400
33651170 |Ughlndhp 200 g < |ghnuwhwn 100
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_!651170 Ughynyhp 3% < |wltwpuntl 100
33651187 |[f*hpunlhphti 200 dq < Iphquhwn 200
33651195 [Uwpnnt bnpduy hunmbngnpnijhtt 10% < upyuly 400
33661122 |Mwpughununing 500uq <  |ghquhwwn 700
33661122 |Mwpughnuning 1250q/5 9l [oho 150
33661152 |Skinpughlyht 1% 3¢ [uluwpumy 100
33661152 |Skwnpwghliht 30uUq/ Q< |punip 100
33661153 [Yhpuwubwwmgnh 4ug/uy G jupjuy 300
33661155 |Mhinhwpwhl, 1% G |wlyuwufuph) 50
33661156 |@hunin) Suq/u) G |ulfhwuluphy 50
33671113 |Uuypnununing 100dlq stiswndwl jmdnyp G [huwn 200
33671130 |hbbuhhnpuiht 100uq Q< [pbquhunn 200
33671130 |Yhdkuhhnpudht 1% A< |upduy 100
33671131 |Lopunnwnht  10dq <  [ghquhwun 300
33691112 [Utwpnuhnwqni 500uq Q< |[undhy 100
33691112 |Utwnpnuhnugny 500uq G<  [pinuwhunn 400
33691121 |Uypklnugny 400uq < |phnuwhwwn 100
33691124 |Mhpwinnk; 250Uq < [phnuhun 100

Hinnpwijp
33651114 |Ptughiwybuhghiht 1q < 22hYy 1500
33651111 |Udnpuhghihtu 500dq < hwp 1000
33651110 |Udwhghihu 1q QL 22hYy 500
33661127 |Utiinwdhgny 50% 24g Q< updwly 15000
33661136 |Uwwniphu 2d}/10dg QL upjuy 300
33611350 (Uuynpphtwpent 5% 54) q< upduy 6000
33631370 |Uwpwlniphnud phighjwwn 2.54) 25dq QC wdwniw 200
33631370 |(Uwnpwlynippnid peghjwwn 54) 50dqg Q< wdwniw 300
33661157 [Uwpnuht 14 1dg 9L wdwniw 800
33631350 |Upnnwwuu 4dq 24) /whwbynipnuhnidh ppndphny/ - |9< upduwly 150
33671112 |Pupnnnuwy 1R 2uswndwty/ hupwwnpnwhnuwth ppndhn 9C hwun 70
33661115 |Pnuyhywlwiht uwhtw) 44) 20dq G wdwnijw 400
33661150 [SLuwnwdhghu 80dq 24 Q< upduwly 1000
33691138 |Synynqui 10% 1004 Q< w(.thwpebip 400
33691138 |Syniynqu 10% 2000 Q< w-thwpbp 200
33691138 |9yniynqui 40% 54 Qc upyuwly 1500
33691138 |Hynynqu 5% 2504 QL w|-thwpbp 200
33691138 |Fynynqui 5% 5004 qC wi-thwpbp 1500
33641413 |Hepuwdbipwgnt 4dg/dp Q< upduwly 4000
33621440 |“Hhpwgn 1% 54; Q< upywly 1500
33661164 |thphihu 54) 100dq Q< wdwniw 600
33671130 |nhdbuhhnpwdh 1% 1d; Q< unpyuwy 15000
33691202 |"thghunu 250dq 24| /Ewnwdgh|wuwn/ < upguly 1000
33620000 |“tnpnunwdhu 54; 2504q Q< wdwnijw 50
33621490 |Tnwhighwn 250dq Q< hwp 1000
33611170 |“pnwnwybphtu 20dg/d) Q< upyuly 1000
33671114 |Enibhihu 24dg/d| SU| /wdhun$hihu/ Q< upduly 6000
33661110 [Pgndinipwt 1004 Q< 2hy 12
33691129 |hnunubl 5004 Q< $luynt 500
33691192 |Lhnnlwjht 10% uthpb <L hwn 20
33691192 [Lhnnlwjhl bhti$phuny < hwtn 20
33611420 [Ywighnudh gyniyntiwn Q< upduwly 1500
33631300 [YbLwnwpndtu 100dq 24; Q< upyuwly 3000
33661115 |Shpnhwjhu 5.0 dg/104) / Lunpnughdwlwihu Q<L upywly 400
33621150 [YnUwYhnt $hunindbuwnhnl 2dg 0.24; < upyuwly 600
33621340 |[4ndbthu Uwwinphnwih pbugnuwwn 20% 14) QL upyuwy 2000
33621100 |<bwwphu hyyn 54; QL upduly 1000
33691145 |Uwqubighnidh unyduwin Q< upywy 10000
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8621660 |Ubquunnu 14} 10dq / buhiEbphu/ Q< wdwntjw 100
33611160 |Ubkwnynupwdhn 5ug/24 Q< upyuwy 3000
33621700 [UGwnwpninjiuniwpunpuwn Sdg/d; Q< upjwly 100
33691112 |Ubwpnuhnuwgny 0.5% 1004; Q< hwwn 2500
33661135 |Uhnwqatd 15dg/3d] / dhnwgnjwd/ < upyuly 250
33691144 |Lwuwnphnwh phnunyduwn 30% 54) Q< upyuwy 2500
33691136 [Lwwiphnuh pinphn. 0.9 % 1004 q< wj|.thwpekip 1500
33691136 |Lwuwnphnuh pinphn. 0.9 % 2504 qC W|. hwptp 6000
33691136 |Lwuwiphnwh pinphn 0.9% 10004; Q< W|. hwphp 2000
33691136 |Lwwnphnuwh pinphn 0.9% 5004) Q< w|.thwphp 6000
33691136 |Lwuwphnuwh pinphn 0.9% 5d; N10 QL upyul 1000
33691136 |Lwwphnuwh pinphn 10%50004; Q< . hwpbp 300
33691136 |Luwiwnphnwh pinphn 7.5 %5004; Q<C W hwpbp 100
33691136 |Lwuwphnuwh pinphn 0.9 %30004] Q< hwwn 200
33671115 |Lndnhuwjhu 0.5% 2504; 9L w|.thwpbip 200
33671115 |Lndnbuiyht 0.5% 24; Q< updwly 2000
33661122 |MNwpwgbwwin| 100d;-1000dq Q< dlwynu 200
33691186 |Mhpwgbinwd wdw. 20% 54; Q< unyjuly 5000
33691129 |fthugkph (ndnyp 2504 QL W.thwpbp 3000
33691129 |Nhugbiph |nwnye S004; Q< w1 thwpebp 2500
33671113 |Uwpnunwdn| wkpngng Q< hwun 50
33661110 |Ulundinipwu 2504 Q< 22hYy 10
33671115 |Unydnludbnluwiht wdwy. 10% 2d; / unybnljuddr < upywly 3000
33691236 |Unwypwuwnhtu 25dq 9 hwp 400
33691236 |[Unwypwuwinht wdy. 141/ pinpnwyhpwdhty/ q< upywly 500
33661125 |Uwwqgdwwnu [-p 5] dbnwdhgng QG upyuly 600
33651157 |Uwnpbwwnindhght n/thnoh 1q. < 22hY 500
33691210 |Uwnpndwlinhti & 1d; 0.0025% Q< upyuwy 300
33621270 |dwihnn| 0.06q QL hwwn 1500
33621300 |Ywnjwpnhu 204; 9L hwn 100
33611440 |dhuwdhu £ hwdwihp 2d; Q< upywy 500
33631170 |Shkwpwghlyhuh punip Q< hwiwn 200
33651116 |8bbwanihu 1q Q< 22hYy 2500
33651118 |[8tdwphwpunt 1g q< 272hYy 5000
33651134 [Shwnnjopuwghthu 2004d; 4004q Q< hwwn 40
33650000 |Shuwwpwlyniphnud pbighjwn 2.54) 5dq Q< wduynijw 100
33691192 |Owhpbijwpu whwlsh Yweh; QL hwuwn 50
33641100 |Opuhwinght 1d) Q< upJuwly 2500
33661114 | dhuwnwuhy 24) 100d4g Q< wdwnyw 800
33671129 [dnipw)ghu 5d) wlhwlgh Ywphy Q< hwun 50
33621590 |bnipwubidhn 40dg qC hwp 2000
33691223 | dpwpupwwph 0.34) uwnpnwwphth Yuighnd{ < upyuwy 100
33691223 |Dpwpuhwwphu 0.64; < upywly 20
33651215 |Cwlwihwyinwgdwl wlwnnpuht 9 22hYy 2
33651191 |CwlwpnunnihUwjhu ohény Q< 2hYy 2
24311570 |(enpwé onip 3thuip qC hwwn 1200
33621360 |9hghu 3jhwp 9L hwwn 300
33691209 |Oduhly 0.4dq / mwdunynghty/ 9 nbnwwwunhé 2000
33621640 |<hnpnynpwnhgnu punip Q< hwun 100
Pdoyulwu Lywlwynipiwl wupwupubn
33141145 |Uukn uyhuwy 23G Pencil-point qQc hww 200
33141145 [Uubn uyhluy 25G- Pencil-point Q< hwuwn 200
33141211  [U4Ynt - 2kp Nhpdndw phun —iphqukp N50 Q< wnnuh 20
33141211  |Zkpwingujht hwygkih Q< hwuwn 1500
33141211  [Unwpluyulub wuwwlh 25,4x76,2 Q< hwun 2000
Mnpwanyiught wywpwinh tnypsh poigp 400

33141211 |SONY UP-D897 fun! hunfwipdtp e filliin

33141211 |Uubin 216G LY hwn 8000




)
LA141178 | Pnulibpwpldwt (hd$nighnt) huwdwlwng QL hwwn 12000
433141115  [Pwdpwl 100g Q< hwtn 1200
33141133  [Phuwn 7x14 ns unbiph| hwpebpwynpyws <L hwun 1800
33141133  [Fhuw 7x14 uwnbiph] hwpbpwynpyws 9L hwun 1800
33141133  |[Ppuw ghwuwjhu 2,5x20 Q< hwuw 400
33141114 |fGwughd pdolwlwu L hwun 7000
33141211  [(Gninpe E4S 112x100x300 Q< hww 400
33141211 |feninp K4S 60x30 L hwwu 200
33141211 |fdnue E4S 50x50 < hwuwn 100
33141211  |Owdljwuywyh 22x22 <L hwun 4000
33141211 |Owdhuwwmlh 22x48 G< hwn 1500
33121180 |Upjwl dupdwl swihhs uwnp q< hwwn 10
33141136  |Ywwnbinp dnjhh 14Fr < hwwn 200
33141136 |Ywintwnp Gpwlwihu 206 qL hwun 2500
33141136 |“wwnbiinp Gpwlwihu 226 < hwwn 2500
33141136  |Ywunbinp bpwyuiht 24G Q<L hwn 2500
33141136 |Ywwbinp bpwlwhu 18G Q< hwun 150
33141136 |Ywwnbwnp Gpwlwht 16G Q< hwwn 100
33141136 |Ywwbinp bpwlwihu 146 qc hwtn 30
1500
33141211 |Yupsoib uwgbnuith 1.97.2 (Ykinuyhl Jhpurljug) S fituun
33141159  |Qbnungubip pdolwlwl ny uinbiphy 9L hwwn 15000
33141156 |Qdtinungubip pdoywlywl uwnbiph) G< hwun 3000
33141173 [Ubkiqpunniuhs wwny 9< hwun 500
33141183 [Lwgngwutnpw] gnun QL hwun 100
Ltpwnyhs 10,0 Gnwynduynubun 21-23G 15000
Q< hwun
33141142 |wubnny
Ubpwplhs 2,0 Bnwyndwnubuwnm 21-23G e - 15000
33141142  (wubnny
Utipwnyhs 20,0 nwlndwntbln 21-23G L " 6000
33141142 |wubinny
Lhpwplhs 5,0 tinwyndwynubun 21-23G G¢ b 15000
33141142 |wubnny
33141142 [LUbkpwplyhs puuny. 1,0 100dhwdnp 27 G wubinny Q< hwwn 1000
33141142 | Lbpwnlhs 604) QL hwwn 500
33141157 |ULpwnwph dwjp < hwwn 1200
33161220 |Cujwwnk) thwjinb < hww 3000
33141211  |Mhwbwlw NOL < hwwn 200
33141211  |Rbpdwswih QC hwun 300
33141211 |NGuwngbu bplwlhs G-230 < hww 12
33141211 [(HGuwngbu dwwwybu 13x18/100 < hwuwn 6
33141211  |[MHGUwngbl dwwwybu 18x24/100 /Yuwitwg/ Q< hwwn 24
33141211 [HEUwngbt dwwwybiu 24x30/100 /Ywtws/ < hwu 24
33141211 [tEUngbl dwwwybu 30x40/100 /Ywliwy/ < hww 12
33141211  |MNbuwngbu dwwwdbl 35x35/100 /LYwtws/ Q< hwwn 12
33141211  [MthUingbu dwwywibu 35x43/100 /Yuitws/ QL hwwn 12
33141211 |(Hsuwngbiu dwwwybl 35x43/100 4S-h hwdwp qC hwwn 6
33141212 |(HGuwngbl dwujwydbt 18x24/100 YS-h hwdwp < hwun 2
33141211 |MHEuwngbu $hluwd 305 A< hwuw 12
33141211 |dynipngpwdbhwih dwwwyb QL wnnith 4
33141143  |Ujwphdhlywwnnp QL hwun 12000
33141160  |Unungh) 260,0 Q< hwn 1000
Uwbnwup 5ud*5.5d Yuinpb hhdpny ac huitn 1000
33141112 |hhwnwbpgbu
33141121 |dppwpnidwlwl ph) (dEnwpu) N4,5,6 QL hwun 2000
33141121 |Jhpwpnidwlw el (Jhphpwubnny 0,1,2 9 hww 2000
33141121  |[Uphpwpnidwlwl ph) (Guwpnu) 3,4,5,6 QL hwun 400
Uwulwywt Yapwypdwi funnnjulutin 500
33141183 |/2nunbp/ 8FG < e
Jwujuwlwu apwypdwu funnnywyutip 500
33141183  |/2nuntip/ 6FG e huin
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y Uuqquijwgdwl uwpph hwdwp wnunppbun 45 3

4 a< hustn
33141211 |l
33141183  [Lwgnquuwnpw) gnun. 12,14 < hwwn 50
33141183 [Lwgnqwuwpwi gnun 18,20 < hwuwn 50
33141183  |Lwgnqwuwpw) gnun 6,7,8 L hwu 50
33141211 |8kuwnphdnig hnpdwlnp < hwn 1000
15991700 |dhunph pninp q< hww 4
TNwuwnply npdwtne 1.5 . Qwdhwphsny 1500
< hwwun

33141211 |Eppendorf nhuh
33141211 |Uwuikphynty P 1200C-1300C Q< i 1
33141211  |XP-300 Swyhshpninp 9< hwwn 6
33141211  [dwyninuybbkpbtp K2 EDTA Q< o 1000
33141144  (Uuknubp quljnunwyutpbbnh hudwp Q< hwwn 5000
33141141  |ujuuwnpl thnpdwbnpubp BLU-P hudwp s¥g hwn 5
33140000 [Pnpuluy gpklwd18-26 Q< hwwn 70
33140000 . [$nihh uwnbnp by < hwwn 1000
33140000 [bnjhh huwmbnp tpy&nin 9 hwn 1000
33140000 |Ouypwlwy Upypnuwhuybinh hunfwp 10004l Q< hwun 3000
33140000 (Ouypuluy dhlpnushujbiinh hundwp 2004/ Q< hwuw 3000
33141211  |Jwynunwjubip gbndh q< hwun 1500
33141211 [dwlhnunwjubp bwwph ghnpuwnny QL hwun 300
33141211  [Jwynunwjubp Li- hbwwpht 9L hwun 500
33181120 |thunhgh qunhs htunghujhquunnp HIPS 16 < hwwn 100
33181120 |thwyhgh quhs hkunghwihquunnp HIPS 18 QL hwuw 150
33181120 |thwijhqh quipy hEunghuhquuunnp HIPS 21 < hwwn 1000
33181100 |Upjut hnupughd QL hwn 1200
33141149  [Shuwnijuyhl wmubnlbp 16G, q/k Q<L hwwn 1000
33141149 |Phuninyuihtt wubnikp 17G, q/k Q< hwwn 150
33141136  |Yttwnipntwlwh kpuluyhly, bpydny  junbnbp|  9< hwwn 4
33691139 |ZhUBuyhti mnwiyyniph puippephe < hww 1500
33141211 |[Dhpnp phwihgh wywpwnh hundwp QL hwuwn 3
33141211 (Mnnnjul nhunhqh wywpuwnh hwudwp QC hwn 8




